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Name: __________________________________



1
In the diagram below of circle O, radius [image: image1.png]ocC



 is 5 cm.  Chord [image: image2.png]AB



 is 8 cm and is perpendicular to [image: image3.png]ocC



 at point P. 
[image: image4.png]



What is the length of [image: image5.png]OP



, in centimeters?

	1)
	8

	2)
	2

	3)
	3

	4)
	4



2
In the diagram below of circle O, diameter [image: image6.png]AOE



 is perpendicular to chord [image: image7.png]oD



 at point E, [image: image8.png]


, and [image: image9.png]


. 
[image: image10.png]



What is the length of [image: image11.png]CE



?

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]




	4)
	[image: image15.png]






3
In circle O shown below, diameter [image: image16.png]DE



 is perpendicular to chord [image: image17.png]AC



 at E.
[image: image18.png]



If [image: image19.png]34



, [image: image20.png]30



, and [image: image21.png]DRE » BR



, what is the length of [image: image22.png]BE



?

	1)
	8

	2)
	9

	3)
	16

	4)
	25



4
In the diagram below, diameter [image: image23.png]AB



 bisects chord [image: image24.png]oD



 at point E in circle F. 
[image: image25.png]



If [image: image26.png]


 and [image: image27.png]


, then the length of [image: image28.png]CE



 is 

	1)
	7

	2)
	8

	3)
	15

	4)
	16



5
In the accompanying diagram of circle O, diameter [image: image29.png]AB



 is perpendicular to chord [image: image30.png]oD



 and intersects [image: image31.png]oD



 at E, [image: image32.png]


, and [image: image33.png]


.
[image: image34.png]



What is ED?

	1)
	8

	2)
	7

	3)
	6

	4)
	4



6
In the diagram below of circle O, diameter [image: image35.png]AB



 is perpendicular to chord [image: image36.png]oD



 at E.  If [image: image37.png]10



 and [image: image38.png]


, find the length of [image: image39.png]CE



.
[image: image40.png]




7
In the accompanying diagram of circle O, diameter [image: image41.png]AB



 is perpendicular to chord [image: image42.png]oD



 at E, [image: image43.png]


, and [image: image44.png]


.  What is the length of the diameter of circle O?
[image: image45.png]




8
In the accompanying diagram of circle O, diameter [image: image46.png]ABLCD



. and [image: image47.png]14



.  Find CE.
[image: image48.png]




9
In the diagram below, circle O has a radius of 5, and [image: image49.png]


.  Diameter [image: image50.png]AC



 is perpendicular to chord [image: image51.png]BD



 at E. 
[image: image52.png]



What is the length of [image: image53.png]BD



?

	1)
	12

	2)
	10

	3)
	8

	4)
	4



10
In circle O shown below, chords [image: image54.png]AB



 and [image: image55.png]oD



 and radius [image: image56.png]oA



 are drawn, such that [image: image57.png]


, [image: image58.png]OF | AB



, [image: image59.png]OF 1 CD



, [image: image60.png]16



, [image: image61.png]


, and [image: image62.png]


.
[image: image63.png]



Determine the length of [image: image64.png]DF



.  Determine the length of [image: image65.png]oA



.

11
The accompanying diagram shows a semicircular arch over a street that has a radius of 14 feet.  A banner is attached to the arch at points A and B, such that [image: image66.png]BB =5 feet



.  How many feet above the ground are these points of attachment for the banner?
[image: image67.png]




12
In circle O, diameter [image: image68.png]AB



 intersects chord [image: image69.png]oD



 at E.  If [image: image70.png]


, then [image: image71.png]ZCRA



 is which type of angle?
	1)
	straight

	2)
	obtuse

	3)
	acute

	4)
	right



13
In a circle, diameter [image: image72.png]AB



 is perpendicular to chord [image: image73.png]oD



 at L.  Which statement will always be true about this circle?
	1)
	[image: image74.png]




	2)
	[image: image75.png]AL > LB





	3)
	[image: image76.png](CL) x (LD) = AB





	4)
	[image: image77.png]Bl > 1A







14
In the accompanying diagram of circle [image: image78.png]


, diameter [image: image79.png]AB



 is perpendicular to chord [image: image80.png]oD



 at point [image: image81.png]


.  What is the image of [image: image82.png]AC



 in [image: image83.png]AB



?
[image: image84.png]



	1)
	[image: image85.png]AD





	2)
	[image: image86.png]BD





	3)
	[image: image87.png]ED





	4)
	[image: image88.png]AR







15
In circle R shown below, diameter [image: image89.png]DE



 is perpendicular to chord [image: image90.png]5T



 at point L.
[image: image91.png]



Which statement is not always true?

	1)
	[image: image92.png]




	2)
	[image: image93.png]




	3)
	[image: image94.png]




	4)
	[image: image95.png]E) = (SL)







16
In the diagram below of circle O, diameter [image: image96.png]AB



 and chord [image: image97.png]oD



 intersect at E.
[image: image98.png]



If [image: image99.png]AB 1 CD



, which statement is always true?

	1)
	[image: image100.png]




	2)
	[image: image101.png]




	3)
	[image: image102.png]




	4)
	[image: image103.png]






17
In the diagram below, [image: image104.png]MABC



 is inscribed in circle P.  The distances from the center of circle P to each side of the triangle are shown.
[image: image105.png]



Which statement about the sides of the triangle is true?

	1)
	[image: image106.png]AB > AC » BC





	2)
	[image: image107.png]AB < AC and AC > BC





	3)
	[image: image108.png]AC' > AB > BC





	4)
	[image: image109.png]AB and AB > BC







1
ANS:
3
[image: image110.png]



REF:
011113ge

2
ANS:
4
[image: image111.png]NPTIEP TN CoRN TN CRPIN )




REF:
081124ge

3
ANS:
2
[image: image112.png]


  [image: image113.png]


.  [image: image114.png]



REF:
061221ge

4
ANS:
2
[image: image115.png]17157 = Wf289-225 = f64 = 8




REF:
011424ge

5
ANS:
3
REF:
080114siii

6
ANS:

[image: image116.png]


.  [image: image117.png]CE =





REF:
011234ge

7
ANS:

10.  [image: image118.png]



REF:
019907siii

8
ANS:

7
REF:
068104siii

9
ANS:
3
Because [image: image119.png]ocC



 is a radius, its length is 5.  Since [image: image120.png]


 [image: image121.png]


.  [image: image122.png]MEDO



 is a 3-4-5 triangle.  If [image: image123.png]


, [image: image124.png]


.
REF:
fall0811ge

10
ANS:

[image: image125.png]Hy+10) =4y - 20
2y+20=4y-20
40=2y
W=y



.  [image: image126.png]DF =y+ i

20+ 10 =30



.  [image: image127.png]



REF:
061336ge

11
ANS:

[image: image128.png]NIT



.  The distance from A to the point on the street directly below E is also a radius of 14 feet.  [image: image129.png]5 +b* =147
b =171
b= 71



.
REF:
080124b

12
ANS:
4
REF:
081308ge

13
ANS:
1
REF:
089617siii

14
ANS:
1
REF:
069018siii

15
ANS:
3
REF:
011322ge

16
ANS:
4
REF:
081403ge

17
ANS:
1
The closer a chord is to the center of a circle, the longer the chord.
REF:
011005ge


